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Ideals for irreducible component#ﬂ)f Xpar
I = (—1.26359 x 10"u5? — 1.96443 x 10" 7™ + -+ - +2.39123 x 10'7b — 1.89562 x 103,

— 2896197715241 + 18666048239996u" + - - - + 239122974590735869a — 438392119644066415,
u® 4wt 4+ 3u—1)

* 1 irreducible components of dim¢ = 0, with total 53 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L.
I = (—1.26X10"u52—1.96 X 10" 7w’ +. - . 4+2.39x 10 "b—1.90 X 103, —2.90X
1011452 41.87x 101345 4+ - - 4+2.39 X 1070 —4.38 X 107, w53+ uS2+...43u—1)

(i) Arc colorings

0
a0 = \u
1.21118 x 10~ %452 — 0.0000780605u°! + - - - + 3.83847w + 1.83333
az = 0.00528425u°2 + 0.821515u°! + - - - + 3.16643u 4+ 0.0000792739
1
a7 = _u2
0.00254871u°2 — 0.00326419u5! + - - - — 4.41855u — 0.716687
as = \ 0.00254880u"2 — 0.00324345u! + - - - — 3.31660u — 0.0000206367
u
ail = \u
w2 +1
a5 = u?
—2.84090 x 10~%4°2 4+ 0.000195650u°! + - - - + 3.13319u + 1.01667
ag = —0.0113905u%2 4 0.805395u>! 4 - - - + 3.18393u — 0.000198494
0.0000154157u%? — 0.00105631u5 + - - - + 4.17250u + 1.75000
a4 = 0.0622368u5? + 0.794538u’t + - - - + 3.24677u + 0.00107174
—U
ag = \u®+u
—ud —2ud 4 u
a1 = \u" +3uS+2u3 +u

—ud —2ud +u
a1 = \u" +3u®+2u+u

(ii) Obstruction class = —1

(iii) Cusp Shapes _ _769977140804634968 , 52 578599056246783756 U51 4o —

— L0999 L12200V2002I00 o 02 2100JIU00L20 (0590
1896881691414989920 + 128%28%3&?8%5388?& 69 239122974590735869
239122974590735869 239122974590735869




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u?® —3uP? w1

Co,Cy W et 9u—1
c3 L2 ST |

Cs,Cg, C9 u53_’_u52+_._+3u_1

€10

cr uB P+ =721 — 271
Cs u —uP? + .+ 37u — 89
11 u® — 114" + - + 1317u — 163




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘@ Y =9y 4 3y — 1
C2,C4 Yy =372 4 — 9y —1
cs YB35 9y — 1
Cs5,C6, C9 y53+59y52++3y—1
€10
c 53 52
7 Y27 4+ 35y°° 4+ - - - + 1272679y — 73441
c8 y°3 + 59y°% + ... — 255841y — 7921
53 52
c11 Yy +19y°7 + - - + 1976055y — 26569




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.650984 + 0.6742991
= 0.257151 — 0.8775521
= —0.137847 + 0.2720251

3.29153 + 3.407431

13.0359 — 10.09241

= 0.650984 — 0.6742991
= 0.257151 + 0.8775521
= —0.137847 — 0.2720251

3.29153 — 3.407431

13.0359 + 10.09241

= 0.224761 4+ 1.0713301

= —0.775347 — 0.4288941 0.20296 4 4.755611 0
= —0.275336 + 0.2690781
= 0.224761 — 1.0713301
= —0.775347 + 0.4288941 0.20296 — 4.755611 0

= —0.592128 + 0.6544381
= 0.84258 + 1.726591
= 0.076882 — 0.2287031

4.38092 — 11.945601

6.49757 + 9.104091

= —0.592128 — 0.6544381
= 0.84258 — 1.726591
= 0.076882 + 0.2287031

4.38092 + 11.945601

6.49757 — 9.104091

= —0.509097 + 0.6118241
= —1.38091 — 1.150291
= —0.296709 — 0.3667381

—0.15260 — 6.195541

4.01481 +9.361781

= —0.509097 — 0.6118241
= —1.38091 + 1.150291

U
a
b
U
a
b
U
a
b
U
a
b= —0.275336 — 0.2690781
U
a
b
U
a
b
U
a
b
U
a
b= —0.296709 + 0.3667381

—0.15260 + 6.195541

4.01481 — 9.361781

u= 0.746383 + 0.2583081
a= 0.0258294 — 0.00888661
b= —0.721551 + 0.1702221

4.51390 + 1.247111

18.3925 — 3.97381

u = 0.746383 — 0.2583081
a= 0.0258294 4 0.00888661
b= —0.721551 — 0.1702221

4.51390 — 1.247111

18.3925 + 3.97381




Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = —0.089202 + 0.7496191
a= 0.275857 + 1.2051701
b= —0.410304 — 0.1493851

—2.80915 4+ 1.176901

—3.10474 — 1.384051

u = —0.089202 — 0.7496191
a= 0.275857 — 1.2051701
b= —0.410304 + 0.1493851

—2.80915 — 1.176901

—3.10474 + 1.384051

u = —0.668726 + 0.3005921
a = —0.191315 — 0.5670881
b= —1.006360 — 0.7267301

5.42859 + 7.696451

8.91950 — 3.877641

u = —0.668726 — 0.3005921
a = —0.191315 + 0.5670881
b= —1.006360 + 0.7267301

5.42859 — 7.696451

8.91950 + 3.877641

—0.511815 + 0.5244201
a = —0.75753 — 2.015041
b= 0.349101 + 0.0038261

4.20057 — 3.681171

11.59505 + 7.705761

uw = —0.511815 — 0.5244201
a = —0.75753 + 2.015041
b= 0.349101 — 0.0038261

4.20057 + 3.681171

11.59505 — 7.705761

u= 0.429766 + 0.5928591
a= 0.124286 + 0.8940531
b= —0.288153 + 0.3424721

0.14967 4 2.032041

3.41312 — 3.398007

0.429766 — 0.5928591
a= 0.124286 — 0.8940531
b= —0.288153 — 0.3424721

u =

0.14967 — 2.032041

3.41312 + 3.398001

u = —0.132734 + 1.2842601

a = —1.032290 — 0.0639411 0.47934 4 4.721021 0
b= —0.517989 + 0.0933291
uw = —0.132734 — 1.2842601
a = —1.032290 + 0.0639411 0.47934 — 4.721021 0

b= —0.517989 — 0.0933291




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= —0.508709 + 0.4372551
= 0.568345 — 0.3264621
= 1.029690 + 0.6124771

4.45759 + 0.119221

13.02951 4 0.699641

= —0.508709 — 0.4372551
= 0.568345 + 0.3264621
= 1.029690 — 0.6124771

4.45759 — 0.119221

13.02951 — 0.699641

= 0.440292 + 0.4991841
= —3.68961 + 0.830117
= 0.12450 — 1.781221

2.13564 + 1.559481

—19.8548 + 10.43531

= 0.440292 — 0.4991841
= —3.68961 — 0.830117
= 0.12450 4 1.781221

2.13564 — 1.559481

—19.8548 — 10.43531

= —0.517939 + 0.3010611
1.028670 + 0.6663141
= 0.280251 + 0.7352401

0.73495 + 2.614461

6.80748 — 3.272961

—0.517939 — 0.3010611
= 1.028670 — 0.6663141
= 0.280251 — 0.7352401

0.73495 — 2.614461

6.80748 + 3.272961

0.392523 + 0.3519801
= 1.42826 — 0.069071
= 0.413573 + 0.2753751

0.839103 + 0.9633681

7.10556 — 5.207721

= 0.392523 — 0.3519801
= 1.42826 + 0.069071
= 0.413573 — 0.2753751

0.839103 — 0.9633681

7.10556 + 5.207721

= —0.06198 + 1.501811

= —1.79399 + 1.780191

= —0.653059 — 0.6702281 | —5.03695 + 1.094021 0
= —1.79399 — 1.780191
= —0.06198 — 1.501811
= —0.653059 + 0.6702281 | —5.03695 — 1.094021 0




Solutions to I V—=1(vol ++/—=1CS) Cusp shape
= —0.11826 + 1.513941
= 0.260990 + 0.4355411 | —2.00563 — 1.985861 0
= —0.700219 + 0.7654971
= —0.11826 — 1.5139471
= 0.260990 — 0.4355411 | —2.00563 + 1.985861 0

—0.700219 — 0.7654971

0.147327 + 0.4569631
2.93201 + 0.624121
0.304651 + 0.5569171

0.94420 4 1.177341

5.61906 — 3.356401

0.147327 — 0.4569631
2.93201 — 0.624121
0.304651 — 0.5569171

> Q@ €| & €| & €| & &

0.94420 — 1.177341

5.61906 + 3.356401

0.08159 + 1.537111

u =

a = —0.78166 + 1.909671 | —5.71528 + 2.303911 0
b= —2.08548 + 3.231081
u= 0.08159 — 1.537111
a = —0.78166 — 1.909671 | —5.71528 — 2.303911 0
b= —2.08548 — 3.231081
u = —0.13998 + 1.540141
a = —0.04025 4 2.047811 | —2.69459 — 5.990057 0
b= —0.40909 + 4.232331
u = —0.13998 — 1.540141
a = —0.04025 — 2.047811 | —2.69459 + 5.990057 0
b= —0.40909 — 4.232331
uw= 0.11703 4 1.544151
a= 2.07571 —3.591041 | —4.76295 + 3.506971 0
b= 3.41746 — 5.934021
w=0.11703 — 1.54415]
a= 2.0757143.591041 | —4.76295 — 3.506971 0

b= 3.41746 + 5.934021




Solutions to I} V—1(vol +1/=1CS) | Cusp shape
u = —0.14909 + 1.571181
a= 0.35071 + 1.510867 —7.49343 — 8.602311 0
b= 1.12655 + 3.152171
u = —0.14909 — 1.571181
a= 0.35071 — 1.510867 —7.49343 4 8.602311 0
b= 1.12655 — 3.152171
u= 0.12468 + 1.575231
a = —0.587299 — 0.6548041 | —7.21649 + 4.051181 0
b= —0.76132 — 1.405391
u= 0.12468 — 1.575231
a = —0.587299 + 0.6548041 | —7.21649 — 4.051181 0
b= —0.76132 + 1.405391
u=0.20197 4 1.5824171
a = —0.010726 + 1.3584001 | —4.20208 + 6.580811 0
b= 0.23211 + 2.554701
u= 0.20197 — 1.582411
a = —0.010726 — 1.3584001 | —4.20208 — 6.580811 0
b= 0.23211 — 2.554701
u = —0.18129 4 1.585061
a= 0.26732 —2.262111 —3.1210 — 14.81391 0
b= 0.59368 — 4.300957
u = —0.18129 — 1.585061
a= 0.26732+ 2.262111 —3.1210 + 14.81391 0
b= 0.59368 + 4.300957
u = —0.02508 4 1.598171
a=—0.41143 — 1.749171 | —10.80680 + 0.74411[1 0
b = —0.48200 — 3.406401
u = —0.02508 — 1.598171
a=—0.41143 + 1.749171 | —10.80680 — 0.744111 0

b = —0.48200 + 3.406401




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

b_

0.03260 + 1.644531
0.806611 + 1.1098601
1.82175 + 2.092581

—8.94151 + 5.469401

a

0.03260 — 1.644531
0.806611 — 1.1098601
1.82175 — 2.092581

—8.94151 — 5.469401

IS

s}

S

0.232267
3.13420
1.23226

2.24636

1.69410
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II. u-Polynomials

Crossings u-Polynomials at each crossing
c1 W32 1
C2,C4 uB P4+ 4 9u—1
c3 W02 1
Cs5, Cg, C9 W24+ 4 3u—1
€10
cr u’ 4+ ub? 4~ T21u — 271
cs uP — % 4 4 3Tu — 89
i uP? — 11u°% + - 4+ 1317u — 163
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ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1 y53_9y52++3y_1
C2,Cy y53—37y52+...79y,1
C3 y53+3y52+79y71
Cs5,C6, C9 y53+59y52++3y_1
C10
c 53 52 .. _
U Y7+ 35y°° + - - - + 1272679y — 73441
c8 y?3 4+ 59y°% + ... — 255841y — 7921
cn y7% +19y°% + - - + 1976055y — 26569
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